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1. Find the derivative:

(a) y = 2 sec(x)− csc(x)

(b) f(θ) = sin(θ) cos(θ)

(c) f(θ) = sin(θ) csc(θ)

(d) y = 1−sec(x)
tan(x)

2. Evaluate: lim
x→0

sin 4x

sin 6x

3. Evaluate: lim
x→0

sinx2

x

4. Write the chain rule in both Leibniz and Newtonian notation.

5. Find the derivative:

(a) y = (x+ 1)10

(b) f(x) = e−x
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(c) y = (x2 + e2x−1)2

(d) f(θ) = sin(cos(tan(θ)))

(e) y = 2x

(f) f(x) = ((3x5 + e2x + x4)12 + 2x)3

6.

7. Before the midterm, you found the derivative of f(x) = |x| by cases; find the derivative of f(x) with the chain rule instead.

8. Using Leibniz notation, find the derivative of x2 + y2 = 1 without solving for y. Why is Leibniz notation good for implicit
differentiation?

2


